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1- For instance, under the main entry amicable, two nouns and an adverb are also listed. ‘for instance’

means................
1) generally 2) for example
3) extensively 4) put emphasis

@ (Jle ylgiey) for instance .25,5 Lo sl 55 28 Sy 9 punl 9> «amicable» Lol (53959 35 > Jbe lgizs -)

025 AST (€ 02,08 &y90 ay (W Jbio sl (¥ logoc ()
(s «Jlio ¢lgisy» (slizo @y 93 ,o for exmple g for instance) < ¥ aiyjS iabye Glyul Culw Fwl M

2- It is important to acquaint yourself .......... your library as very first stage in your academic career.

1) of 2) on 3) by 4) with

A4S LT b a5yl s 1) 393 aS Gl g (Gluazi 6,95 5l al>y0 gl plgic @ -¥
L (€ bawgs (W o (¥ HQ
Gl U5 5 b wle SO (L se> ¢3S Lusl) acquaint oneself with) ¢ € aiy3S jade ol Culw Gl M
(2T o With 65lg cacquaint slos ¢plplo g Cuwl

3- The books in the library are .......... According to subjects.

1) classify 2) classifies 3) classified 4) classification
4- I've tried those tablets and they haven't done me any ...................

1) benefit 2) good 3) better 4) best

5- She had watched birds fly by throwing ............. into the air.

1) yourself 2) herself 3) ourselves 4) themselves

6- 1 like to visit other countries but | find the ..................... of travel is too high.
1) money 2) cost 3) expenses 4) currency

7- They did only had my computer for three weeks when | had to have the hard drive................

1) processed 2) restored
3) retakes 4) revived
8- Mathematics, physics, chemistry and biology are all ............ , While painting is an art.
1) scientist 2) sciences
)
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3) scientific 4) scientifically

9- They should select and arrange people for assigning duties and positions in society. ‘Select’ means...

1) evade 2) choose 3) separate 4) eliminate

10- AS.ccenrnnnnnens of our employees can afford cars of................ Own they all have to rely on public
transport.

1) few/them 2) most/our 3) none/their 4) some /his

11- We must try 10 ccccvvieieninncincinnnnns the country’s wealth so that we help those who need it most.

1) distribute 2) attribute 3) compensate 4) eliminate

12- When Mrs. Harris was promoted, she missed the day - to — day ................. with customers.

1) involvement 2) announcement

3) improvement 4) retirement

Part B: Reading Comprehension

Direction: Read the following passage and select choice (1), (2), (3) or (4) that best answers each question.

Then mark your answer on your answer sheet.

If you think of the job’s robots could never do, you would probably put doctors and teachers at the top of
the list. It's easy to imagine robot cleaners and factory workers, but some jobs need human connection
and creativity. But are we underestimating what robots can do? In some cases, they already perform better
than doctors at diagnosing illness. Also, some patients might feel more comfortable sharing personal
information with a machine than a person. Could there be a place for robots in education after all?

British education expert Anthony Seldon so. And he even has a dare for the robot takeover the classroom:
2027. He predicts robots will read students' faces, movements and maybe even brain signals. Then they
will adapt the information to each student. It's not a popular opinion and its unlikely robots will ever have
empathy and the ability to really connect with humans like another human can.

One thing is certain. though. A robot teacher is better than no teacher at all. In some parts of the world,
there aren’t enough teachers and 9-16 percent of children under the age of 14 don't go to school. That
problem could be partly solved by robots because they can teach anywhere and won't get stressed or tired

or move somewhere for an easier, Higher-paid job.
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Those negative aspects of teaching are something everyone agrees on. Teachers all over the world are
leaving because it is difficult job and they feel overworked. Perhaps the question is not “Will robots replace
teachers” but “How can robots help teachers?” office workers can use software to do things like organize
and answer emails, arrange meeting and update calendars. Teachers waste a lot of time doing non-
teaching work. Including more than 11 hours a week marking homework.

13- Which of the following statements can be in inferred from the first paragraph?

1) We need to underestimate what robots can do for us.

2) Robots cannot diagnose diseases better than doctor.

3) The majority of people prefer to share personal information with a human being rather than a machine.
4) Robots do cleaning jobs easily because they do not require human connection and creativity.

14- According to the passage, which of the following statements may come true?

1) Anthony Seldon will become a robot expert soon

2) Teachers will be assistants to robots in 2027.

3) it is highly probable that robots will really connect with humans like another human can.

4) There will be no need for teachers throughout the world by 2027.

Vocabulary

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet

15- Harry's son is eighteen, he is naturally .......c.ccccccrvnianeenen. to drive a car.

1) too old 2) such old

3) so old 4) old enough

16- The teacher told his students that the books ................. from the library must be returned soon .

1) were borrowed 2) borrowing

3) borrowed 4) which borrowed

17- We ...cueeeeeees for the bus for over an hour under that heavy rain before it arrived.

1) shouldn't have wait 2) mustn't wait

3) shouldn’t wait 4) mustn't have waited

18- If my friend .................... a million dollars, he would certainly start his own business
YY
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1) would win 2) wins 3) won 4) has won

19- The school gave them a generous ..............cc.c.uue.ee. of money with which to purchase.
1) reduction 2) promotion

3) allocation 4) Combination

PART B: Reading Comprehension

Direction: choose the number of the answer choice (1), (2), (3) or (4) that best completes the blank. Then

mark it on your answer sheet

Passage 1:

Today almost all cars require fuel and many haters would not work without oil. In short more than 85
percent of the global energy consumption is based on fossil fuel sources:i:e. oil <gas and coal. But to get
to these valuable resources of our plane, it is necessary to drill deeper and deeper- no easy enterprise.
Deep drilling technology (called “downhole drilling” in the field of oil and gas exploration) makes it possible
to recover oil and gas from depth of more than 2500 m. By combining downhole drilling with directional
drilling (dynamic position of a deep drill), previously unreachable oil reserves can be opened up, with
drilling depth if currently approximately 5000 m and drill lengths of up to 11000 m.

Oil is a limited resource, but is an integral part of our modern way of living. Therefore, in many regions of
the world, the black gold is recovered from deep inside the earth. In the USA, Russia, England, China and
the Middle East, many oil and gas recovery plants, both onshore and offshore, produce several thousand
barrels of petroleum or natural gas every day. Until February 2008, the longest drill hole for oil recovery
was 11680 m long. It was drilled in 2007 in the course of opening up the Chayvo oil field offshore from
the north -eastern coast of Sakhalin (Russia). This oil field is a approximately 2500 m deep, but it is several
kilometers from the coast. These oil reserves are opened up mainly by means of directional from onshore.
20- Which drilling technologies have been mentioned in the passage?

1) Downhole drilling and rotary drilling

2) Circulation drilling and directional drilling

3) Downhole drilling and directional drilling

4) Rotary drilling and circulation drilling

21- Websites which allow user to download new books have been accused of ............... copyright law.

Yt
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1) undergoing 2) violating 3) undertaking 4) discriminating
22-This method of construction is very convenient because it enables the builder to ............. Constructive
units of very small dimensions, such as bricks.

1) diminish 2) predict 3) utilize 4) enforce

Part B: reading comprehension

Directions: read the following passage and select the choice (1), (2), (3), or (4) that best answers each

question. Then mark your answer on your answer sheet.

Attending a good pre-school and primary school has more impact on children's academic progress than
their gender or family background. The Institute of Education study found that the quality of teaching
children receive is more important than their gender or family income. A high quality pre-school followed
by an academically effective primary school gives children's development a significant boost. But children
also need a stimulating early year home- learning environment to build upon.

The effective Provision of Pre-School Education project tracked almost 3,000 children from the time they
started pre-school until age 11. While all children benefit from a good pre-school, high quality is
particularly important for children with special educational needs, those with mothers with low
qualifications, or children who come from unstimulating homes.

At primary school, the quality of teaching affects both children's social behavior and intellectual
development. The researcher found much variation in the quality of teaching at age 10 and said this had
a more powerful impact on children's academic progress than their gender or whether or not they receive
free school meals.

Children who attend a more academically effective primary school show better attainment and progress
in key stage 2 (ages 7 to 11) than children with similar characteristics who attend a less effective school.
But home matters too. A stimulating home learning environment at age 3 to 4 is linked to long-term gains
in children's development and has an equal impact to the mother's qualification level

23- Which of the following statements is true about pre-school and primary school education?

1) A high-quality pre-school alone ensures children's academic progress

2) The quality of education plays a more important role than children's gender

3) Family background is more important than the quality of education children receive

Yo
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4) An academically effective primary school alone ensures children's academic progress

24- According to the passage, a high-quality primary school education is particularly important for all of
the following children EXCEPT those ................

1) with special educational needs

2) with inappropriate social behavior

3) who come from unstimulating homes

4) whose mothers have low qualifications

Part B: Reading Comprehension:

Directions: Read the following passage and select the choice (1),(2),)3). Or (4) that best answers each

question. Then mark your answer on your answer sheet.(iranarze.ir)

London is a famous and historic city. It is the capital 0777f England in the United Kingdom The city is quite
popular for international tourism because London is home to one of the oldest standing monarchies in the
western hemisphere. Helen and Nancy recently traveled to London. They were very excited for their tripe
because this was their first journey overseas from Canada.

Among the popular sights that Helen and Nancy visited are Big Ben the London Eye and Buckingham
Palace. Big Ben is one of London’'s most famous monuments It is a large cluck tower located at the
northern end of Westminster Palace. The clock tower is 96 meters tall Unfortunately, Helen and Nancy
were only able to view the tower from the outside. They learned that the towers interior is undergoing
renovations until 2022.

Fortunately, The London Eye, the city’s famous ferries wheel, was open to the public The London Eye is
situated along the southern shores of the Thames River. This attraction stands 135 meters high. It is One
If London’s most well-known spots for gaining aerial views of the city. Each capsule of the Ferris wheel
can hold up to 25 passengers. When their capsule stopped at the top of the ferris wheel the women took
spectacular panoramic photographs of the beautiful city scape below.

25- Why were Helen and Nancy Very excited for their tripe?

1) It was their first journey overseas

2) London is very far from Canada

3) London is quite popular for its monarchy

1
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4) They had never traveled to the western hemisphere

26- How tall is the clock tower?

1) 202 meters 2) 135 meters 3) 96 meters 4) 25 meters

27- The word They in paragraph 2 refers to..........

1) renovations 2) monuments

3) Helen and Nancy 4) sights

28- The words spots in paragraph 3 is similar in meaning to ......

1) views 2) locations 3) buildings 4) attractions

29- The paragraph following the passage will most probably talk about ...............

1) the ferries wheel

2) tourist attractions of London

3) photographs of the beautiful city scape

4) Helen and Nancy trip Buckingham Palace

30- I've listened to your argument. It's neither here nor there. In other words, it's quite ...............

1) memorable 2) irrelevant 3) scornful 4) enormous

31- You can ask Ms. Smith all your question. She is very.....and informed.

1) reluctant 2) knowledgeable 3) aggressive 4) ignorant

Red the paragraph carefully and answer the questions.

Even professional writers do not write everything perfectly the first time. They have to revise their work.
When you revise your writing, you look for ways to change it in a way to make it better. You check your
spelling and you make sure that you have used perfect periods, and other punctuation marks in the best

way. You look for words that can be replaced or traded for different, more exciting words. You make sure

that your words help reader get a picture in his mind when he reads them. Revising your writing is

important? That you make can turn boring words into exciting words, and can make your ideas ?
32- The passage is mainly about how to ...............

1) be a professional writer 2) trade different things

3) revise your writing 4) get a written picture

33- Which statement is true. According to this paragraph?

YV
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1) professional Writers write everything perfectly.

2) Revising is limiting your Writing to spell check.

3) your main concern is how to save the readers’ picture in mind
4) You revise your writing to make it clear and attractive

34- The underline word treated means .................

1) exchanged 2) examined 3) cleaned up 4) looked after

35-In this week’s column, I ....... you some tips on how to perform this most enjoyable activity.

1) am going to give 2) will give

3) given 4) have given

36- Bargaining is a ritual .......... for centuries .

1) exists 2) has existed 3) existed 4) have existed

37- American officials ............. that climate change presents a serious threat to national security.
1) warned 2) are warning

3) has been warned 4) have been warned

Reading

Direction: Read the passage and choose the best answer to each question:

If you are like most people, your intelligence differs from season to season. You are probably a lot sharper

in the spring than you are at any other time of the year. A scientist believes climate and temperature have

a certain effect on our mental abilities. He found out that cool weather is much more helpful for better

thinking than is summer heat. This does not mean that all people are less intelligent in the summer than

they are during the rest of the year. Spring appears to be the best period of the year for thinking. One

reason may be that in the spring, peoples’ mental abilities are influenced by the same factors that all

nature.

38- Which statement is correct about spring?

1) It has no affect peoples’ mental abilities.

2) It affects some peoples’ mental abilities negatively.

3) It makes all peoples’ less intelligent in comparison to other seasons.

4) It's the best period of the year for thinking.
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39- According to the passage .......

1) Your intelligence is not the same all through the year.

2) Summer heal has no effect on your intelligence.

3) Most people think better in summer than in spring.

4) Spring is most peoples’ favorite season.

40- Boston college is a............... university in this city.

1) small 2) major 3) long 4) careful
41- In the future, you may only ...... to buy one book.

1) deed 2) Read 3) need 4) lead

42- There are a number of reasons why computers won't.... books entirely.
1) use 2) Replace 3) destroy 4) try

43- Books don’t need a power source .......

1) too 2) Also 3) either 4) neither
44- You can read a book for as long as you want and ...... you want.
1) need 2) Where 3) read 4) wherever
45- Do you know ..............time it is?
1) which 2) When 3) what 4) how
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